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ECONOMICS
Paper 11
Time Allowed : 2 Hours] [Maximum Marks : 200

Note :— This question paper consists of One Hundred (100) multiple choice

questions.’Each question carries two (2) marks. Attempt all questions.

L e, is provided by the Government and is also provided by the market

may have extensive positive externalities.

(A) Private good (B) Public good
(C) Non-rivalourous good (D) Merit good
B R occurs when different regions of a country have different abilities

to provide services due to different abilities to raise funds.
(A) Area fiscal imbalance (B) Vertical imbalance
(C) Local imbalance | (D) Horizonal imbalance

3. Assertion (A) : Budgetary deficit leads to increase in price level.
Reason (R) : Money supply is increased in case of budgetary deficit.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true
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4. Match the following and select the correct answer using given codes :

List T . List II
@ M, (1) C+DD + OD + SD
®) M, (2 C+ DD + OD
) M, (3) C+ DD + OD + TD + TD of
post office

(4) C+ DD+ OD + TD
Codes :
(@ (b)) (o)
A 1) @ @
B) M @ @3
<€ @ @O @
D @ Q) @

5. Which of the following states has highest percentage of schools with Pupil-
Teacher Ratio more than 30 (PTR > 30) ?

(A) Uttar Pradesh (B) Himachal Pradesh
(C) Jharkhand (D) Bihar

6. According to Economic Survey 2017-18, which among the following states had
highest Unemployment Rate (for 15 years and above) during 2015-16 ?

(A) Uttar Pradesh (B) Himachal Pradesh
(C) Uttarakhand (D) Haryana

7. Which of the following sectors has highest percentage share in India’s export
during 2016-17 ?

(A) Textiles and clothing (B) Petroleum and crude products

(C) Engineering goods (D) Gems and Jewellery
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10.

13,

12.

In a bivariate distribution, the probability that X will assume a given value
whatever the value of Y is called :

(A) Cumulative Probability of Y (B) Conditional Probability of X
(C) Marginal Probability of X (D) Marginal Probability of Y
If X and Y are random variable, then :
‘  EXY) = EX) EY)
(A) is true if X and Y are independent
(B) is true if X and Y are not independent
(C) is not true
(D) none of the above is true

The probability = 0.8 that a patient with certain disease will be successfully
treated with new medical treatment. Suppose treatment is used on 40 patients.
What is the expected value of number of patients who will be successfully
treated 7

(A) 40 (B) 20

(C) 8 (D) 32

Correlation coefficient is a :

(A) Pure number and it is free from unit of measurement
(B) It is not free from scale

(C) It is affected by unit of measurement

(D) It is not a pure number

If P(B/A) = P(B/A®) = P(B) :

(A) A and B are independent events

(B) Cannot say anything about independence of A and B
(C) A and B are not independent

(D) Both (A) and (C) are false
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13.  Fiscal policy relates to the Government decision in respect of :
(I) Taxation
(II) Government spendings
(ITI) Government borrowings
(IV) Open market operations
Codes :
(A) (III) and (IV) are correct
(B) (I) and (II) are correct
(C) (II), (IV) and (I) are correct
(D) (@), dI) and (III) are correct

3

14.  Transfer payments by the government are not included in the net domestic

product because :

(A) No correponding production of goods and services has taken place to

match such payments
(B) 'They are not counted as commodities
(C) These are paid as salaries from the government to the recipient
(D) There may be leakages in such payments
15.  Theoretically relationship between the rates of taxation and the resulting levels

of government revenue is known as :
(A) Laffer curve (B) Contract curve
(C) Lorenz curve (D) Offer curve
16. When the economy is experiencing high inflation and high unemployment

at the same time, then it 1s a situation of :
(A) Deflation (B) Inflation
(C) Recession (D) Stagflation
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17.

18.

19.

20.

21.

To make meaningful international comparison of income and living standard

wiich one of the following is most appropriate ?
(A) A measure of purchasing power parity

(B) Per capita income

(C) An index of poverty

(D) An index of infrastructural development

As per Actual Estimate Revenue deficit of Central Government in 2016-17
as percentage of GDP was :

(8) 25 (B) 3.1
(C) 21 (D) 1.5

Index of Industrial Production (Base 2011-12) grew between 2011-12 and
2016-17 by :

(A) 35 percent (B) 20 percent
(C) 15 percent (D) 08 percent

If responsiveness of the demand for money to income is high and responsiveness

of the demand for money to the interest rate is low; LM curve will be :
(A) Flatter (B) Steeper
(C) Perfectly elastic (D) Vertical

Which of the following items is not part of Government of India’s capital
receipts ?

(A) Non-tax revenue
(B) Recovery of loans
(C) Borrowings and other liabilities

(D) Disinvestment earning

T.B.C. : 05/18/SET—II 10
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22,

23.

24.

25.

26.

What percentage of GDP is the internal debt of Central Government as per
revised estimates for 2016-17 ?

(A) 30.8 (B) 47.9
(C) 315 (D) 38.0

Which of the following states have death rate higher than All India average
in 2016 ?

(A) Odisha (B) Haryana
(C) West Bengal (D) Rajasthan

Which of the following groups of states have infant mortality rates (per 1000
live births) in 2016 higher than All India average ?

(A) Himachal Pradesh, West Bengal, Tamil Nadu

(B) Gujrat, Himachal Pradesh, Karnataka

(C) Kerala, Jharkhand, Maharashtra

(D) Haryana, Uttarakhand, Rajasthan

What is the Pupil-Teacher Ratio in primary school in 2015-16 in India ?
(A) 12:1 (B) 23:1

(C) 27:1 (D) 33:1

What is export subsidy ?

(A) Payment to domestic firm to exchange them to sell surplus output in

another country
(B) Payment made to produce more to domestic producers
(C) Payment which encourage the domestic producer for more exports

(D) (A) and (C) both are correct

T.B.C. : 05/18/SET—II 12
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217.

28.

29.

30.

81, .

Which of the following is not a barrier to International Trade ?
(A) GATT : (B) Exchange control
(C) Subsidies (D) Quotas

 An import tax charged as percehtage of the price is called :

(A) Ad volorem tariff (B) Value added tax
(C) Antidumping duty . (D) None of these

Regulations on imports such as animal welfare standards and energy efficiency

requirements are known as :

(A) Cooperative barriers (B) Administrative barriers
(C) Trade barriers | (D) Both (B) and (C)
Factor price equalisation means :

(A) Free trade causes identical factors in different countries to be paid more

nearly the same than they were in autarky

(B) All workers are equally productive

(C) Trade causes the return to human capital to be the same as return to

physical capital
(D) None of the above

Effects of a temporary changes in the money supply on exchange rate and

output :

(A) A temporary increase in money supply causes a currency depreciation -

and rise_in output

(B) A temporary decrease in money supply causes currency appreciation and

fall in output
(C) Only (A) is correct
(D) (A) and (B) both are correct

T.B.C. : 05/18/SET—II 14
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32.

33.

34.

Which of the following statements is false ?

(A) A monopolist will operate in the elastic regions of the market

demand

(B) The gap between the firm’s price and its marginal cost is inversely

related

(C) If the demand is inelastic the marginal revenue (MR) will be positive
and greater than MC

(D) The mark up over managerial cost depends  on elasticity of demand

If

= Sk/r) wlr
Sw/r) kilr

where w = wage rate; r = rental cost of capital.
Which statement is false ?
(A) In the two inputs case the value of s must be non-negative

(B) Low value of s indicates that changes in input prices will have relatively
large effect

(C) Large value of s indicates firms change their inputs proportion

significantly
(D) Both (A) and (B) are false

In IS-LM framework the formula for monetary policy multiplier is :

bog bag
B) h+kbag B) prkbog

bog balg
© 7y hba, D 7% b
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35. The following data is given for an economy :
C=60+0.75 Y,
Lump sum Tax = 100
I = 80 — 10i (where i is interest rate)
G = 100
Demand for Money L_= 0.2Y - 5:
Real Money Supply %= 65
What will be the value of fiscal policy multiplier ?
(A) 1.23 | (B) 1.53
(C) 3.62 (D) 2.98

36. What is the share of social services expenditure as percentage of GDP in India
by General Government in 2017-18 (BE) ?

(A) 6.6 (B) 5.3
(C) 4.2 D) 3.5
37. What is true for India’s commitment for Sustainable Development Goal (SDG4) :

(1) Ensure inclusive and quality education for all and promote life long
learning by 2030.

(2) India has made significant progress in quantitative indicators such as
enrolment levels, completion rates and other physical infrastructure but

made little progress in learning outcomes.
(A) Both (13 and (2) are true
(B) (1) is true but (2) is false
(©) (1) is false but (2) is true
(D) Neither (1) nor (2) is true

T.B.C. : 05/18/SET—II ' 18
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38.  Harrod-Domar economic growth model is based upon :

(I) Natural growth rate

(ITI) Investment growth rate

(ITII) Productivity growth rate

(IV) Warranted growth rate

(A) (I) and (II) are correct

(B) (dI) an£i (ITI) are correct

(C) (III) and (IV) are correct

(D) (I) and (IV) are correct

39. In the equation of exchange; link between M and PY is provided by which
concept ?

(A) The money multiplier

(B) The velocity of money

(C) Aggregate demand and supply
(D) Both (A) and (B) are correct

40.  Match List I and IT and select the correct answer using given codes :

List I List II
(@) Organic composition of capital (1) Marx
) Innovation (2 Adam Smith
(¢) Doctrine of natural law (8) Hirschman

(d) Doctrine of unbalanced growth (4)  Schumpeter
Codes : |
@ B © @
Aa @O @ @ @
B O @ @ @
e @M G @ @
™ @O @ @ @
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41. 'Assertion (A) : Giffen goods violate law of demand.

Reason (R) : If substitution effect of price change outweighed by the negative

income effect; law of demand will not be valid.
- (A) Both (A) and (R) are correct and (R) is correct explanation of (A)
(B) Both (A') and (R) are correct but (R) is not correct explanation of (A)
(C) (A) is correct buf (R) is not correct
D) [R) is correct but (A) is not correct
42. Predatory pricing pblicy is adopted :
(A) To drive competitors out of business
(B) To discourage entrants into the market
(C) To maximise profits
(D) Both (A) and (B) are correct
43.  Perfect price discrimination is; when :
(A) Consumer surplus is méximu_m
(B) Producer surplus in minimum
(C) Consumer surplus is zero
(D) None of the above

44. If good X is pollution and good Y is garbage the shape of indifference curve

would be :
(A) Concave to the origin (B) Convex to the origin

(C) MRSxy =1 (D) Cannot be defined
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41. wE (A) : e aeqd o & Fram & e F €

W{R):uﬁaﬂmumaﬁmm:rwaﬂ A guE AfaE T @ A #
e a9y =& @

(A) (A) wd (R) 3 W@ ¥ @ (R) (A) &1 Wl ==& ¥
(B) (A) w8 (R) ZMi & ¥ W= (R) (A) & We =wew 4@ 2
(€) (A) W& ¥ wg (R) w& T ¥
(D) (R) W& & T (A) &8 T &
42. dee wE wima At T W ¥
(A) wfeEmt #1 =UR 8§ 9@ w9 2
(B) AR # &1 1 gacdied & &g
(C) =9 HUFIH F 7
(D) (A) ©& (B) 3 %@l &
43. v Hmq favg F@ €, 99 -
(A) v Al sfaswan @
(B) TEOR& Afaish AaH B
(C) 3udiEa afaiw = @
(D) 9% & ¥ #E T
44. AR X a5 YEEM 991 Y 9% 90 ¥, O AYUE 9% F1 SER I o
@) @R A AR ER (B) gw fag # sl SO
(C) MRSygy = 1 (D) wftaifo =& 1 w1 wWehdl ®
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45. Assertion (I) : A market is perfectly contestable if entry into it and exit

from it are costless.

Assertion (II) : In contestable markets, even large oligopolistic firms end

up behaving like perfectly competitive firm.

(A)
(B)
(C)
(D)

Both (I) and (II) are wrong
Both (I) and (II) are correct
Only (I) is correct

Only (II) is correct

46. As inflationary expectation rises the Phillips curve :

(A)
(B)
(C)
(D)

Shift to the right in long-run
Shift to the right in short-run
Shift to the left in long-run

Shift to the left in short-run

47. In the first stage of law of variable proportions :

(A)

B)

(C)
(D)

Fixed factors of production are underutilized and average product of
variable factor is increasing

Fixed factors of production are overutilized and average product of variable
factor is increasing

Both (A) and (B) are correct

Marginal product is increasing

. 48. Average elasticity formula is correctly defined by :

(A)

©

AP P, +P, AQ P +P,
AQ Q+Q, ; B) AP Q,+Q,
AQ @ +Q, P Q+Q,
AP P,+P, ® Q- prp,
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45.

46.

47.

48.

w97 I : T INR QUa: gfiaRt § A 5o yaw @ afeies ardees 8

HIF I : YeR! aeRl § a2t Uit ®H off oa: Ul yieant w6 %1 ate
FFER H A ¥

(A) DT 1) I & T E

B) (D ()3 & w& ¥

(C) waw (I) §& ©

(D) e (ID) & ©

TRifqeET qUEARl & e 4 fRfaw a%
(A) <rEE # SRl iR feww W €
(B) 3Tt # T iR foww W ®
(C) <l A orff R fows W @
(D) TH A SR iR fags S §
fafay srqumt & fraw &t gell owEeen #

(A) SEEe & feer areEl o1 o1 WA BT § v gfadaeier WA @ eid S
9% W@ B ©

B) R B R T 1 ST T TR e 5 e S 9
G

(C) (A) W (B) <+t @&t €
(D) = UK §E W e §
Fa dre w1 g s g e senta fe T R ?

AP P, +P, AQ P, +P,
) (A) AQ * Q1+Q2 " (B) AP ) Q1+Q2
AQ Q;+Q, P Q+Q,

© AP P +p, ® q p+p,
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49. Match the following and choose the correct answer using the given codes :

(@)
(b)
(c)

List 1

Bimetallism (1)
Compensated standard (2)
Symmetalism | (3

Codes :

(A)
(B)
(©)
(D)

’

(@ ®) (©
1 @ @
@ @ @
1 @ @3
@2 @O @)

50.  Market failure may occur when :

(A)
(B)
(©)
(D)

!

Economic inefficiency

Property rights are not well defined

Imperfect markets
All of the above

List II
Gresham
Marshall

Irving Fischer

51. A straight line downward sloping demand curve exhibits :

(A) Price elasticity would be infinity on Y axis

(B)

(0)
(D)

On tangency to Y axis it will be showing resource constraint and reserve

price

Demand curve never touches Y axis or X axis

Both (A) and (B) are correct

52.  Which of the following is true as a strategy of balanced growth ?

(A)
(B)
(®)
(D)

Simultaneous investment in all the sectors

All sectors are independent
Both (A) and (B) are true
Neither (A) nor (B) is true
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Fret w1 frem FiRT T fw T Few @ W SR IR

- 49.
gt 1 gt 11
(@ Tfeurg wsfa (1) 9w
(b) wfaqws wH (2) WriE
() wHE®Y uig wsh (8) 3fem fwr
W
@ ® @
Aa @O 3 @
B) 2 @ @
© @® @ @
M @ @O @)
50. wNR fawd gar ¥; 99
.(A) s 3TRITerar
(B) wmf & sifyer gof wfwnfog 7 &
(C) 3Mgui SR
D) s |t
51. 9 ®t iR TaM oien Wl Wi 9% <9 §
(A) Y JA&¥ | HHd o = eri
B) Y g w1 Wyl fog wew diftaa we fiod wtma <o
(C) #im = w9t +ft Y stenier @1 X o1eiwr b T = ®
(D) TF (A) 71 (B) H&t &
52. wgfaa faem wHifs & &7 8§ 79 9§ @ =9 @) ¥ 2
(A) ¥4t &5 °§ ww Oy fEwm
(B) wft & waA ©
(C) (A) @=m (B) 31 Wet ¥
D T& @A IMIA B @ ¢
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53.

o4.

55.

56.

India’s rank in UN’s Human Development Index 2018 is :

(A) 116 | (B) 130
(C) 125 - (D) 118

The non-correspondence between the fiscal resources and expenditure

commitments across state governments is known as :
(A) Horizontal federal fiscal imbalance

(i3) Vertical federal fiscal imbalance

(C) Regional imbalance

(D) Sub-central imbalance

Choosing the tax rate across goods to minimize dead weight loss for a given

government revenue requirement is called :
(A) Minimum commodity taxation

(B) Optimal commodity taxation

(C) Lump sum taxation

(D) Proportional taxation

Which of the following is not a reason for major bottleneck of capital formation

in underdeveloped countries ?

(A) Small size of market with no incentives for investment
(B) Low level of incomé

(C) Demonstration effect

(D) High saving rate
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53.

54.

55.

56.

UN & Ara fae™ 9o 2018 § wRd &1 & Aw 8 7

(A) 116 ® 130

(C) 125 | D) 118 |

o TR e T g T e s @ de S e R
H FHE TR

(A) o I TS ST

(B) S&U (Vertical) Wl TSTehIsd I

(C) & Irger |

(D) S9-Had I

o i T T Wi 3 SRR w9 S w0 fag we agel
& fau = R H FIE FAE T |
(A) =FEH 9% FHUHE

(B) fafireay og wUEM

(C) THHRA HUHM

(D) AUG® HAEH

frer # @ P sreufETd 39 & forg O Pt § T @ @ FRE TG E 2
(A) &SR # geq oaR fomd faw & fau e @R |

(B) o & 7 & |

(C) Y guE

(D) =9 dd9d X
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57. What is the correct sequence of the stages of Marxian theory of growth ?
(1) Slavery
(2) Primitive
(3) Socialism
(4) Communism
(6) Feudalism
(6) Capitalism
(A)  (D)—2)—3)—(4)>—5)—6)
B) (2 —1)—5)>—6)}—3)—4)
(C) (D)—(2)—5)—(6)—3)—4)
D) (2)—(1)>—5)—(6)—4)—3)

58. Match the following lists and select the correct answer using the given codes :

List I List II
(@) Robertson 1) MV =PT
(b) Fisher (2) MKO
(¢) Marshall 3) M/KT
Codes :

(@ @) ()

Aa 1 @ @
B) 2 @O @
© @& @O @
O @ @ Q)

59. In which system intrinsic value of money unit is substantially less than its

face value : .
(A) Monometallism (B) Bimetallism
(C) Fiat standard (D) Symmetallism
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57. Tl & foom fagra &t SEEens &1 Wa FH ¥ ¢ 2

(1)
(2)
3)
(4)
()
(6)
(A)
(B)
©
(D)

T gl

ifHeR

HHSE

ESIE

=R

st
(1)—(2)—(3)—(4)—(5)—(6)
(2)—(1)—(5)—(6)—(3}—{4)
(1)—(2)—(5)—(6)—(3)—4)
(2)—(1)—(5)—(6)—(4)—(3)

58, Pt whE W e S @ A Ry T R ¥ W IR o F

(a)
(®)
(c)

et 1

Yadq
TR
BN

e

(A)
(B)
(&)
(D)

@ ® @©
n @ @
@ @ ©
® @O @
@ @ @

gt 11

(1) MV =PT
(2) MKO
3) M/KT

59. o g A w1 3R @ oasla qou sifed go@ @ 99 %W o © ¢

(A)

©

THa g JoTe!

-5 AFh

T.B.C. : 05/18/SET—II

(B) fgerg womedt
(D) ¥9EY 91 YUMell (Symmetallism)

31 - ~ PT.O.



60.

61.

62.

63.

64.

65.

The adverse supply shock is one that shifts supply curve upwards. It occurs
due o :

(A) Increase in the prices of input

(B) Increase in the productivity of inputs
(C) Improvement in technology

(D) None of the above

The stock of rnlﬂney is not determined by :

(A) By the Central Bank through its control of monetary base (high powered

money)
(B) By the public through its preferred currency deposit ratio
(C) By the amount of gold held by the Public and Central Bank
(D) By the banks, through their preferred reserve holding behaviour

What is share of Rural Branches as percentage of total branches for Private
Sector Banks as of 31st March 2017 in India ?

(A) 125 (B) 16.2
(C) 19.6 (D) 21.5
Poverty Head Count Ratio in 2011-12 for rural India was :
(A) 219 (B) 25.7
(C) 285 (D) 29.1

Which of the following states experienced higher decadal growth rate of
population (2001-2011) than the national average ?

(A) Himachal Pradesh (B) Madhya Pradesh
(C) West Bengal (D) Tamil Nadu
As per census 2011 Child Sex Ratio of Himachal Pradesh and India respectively

are :
(A) 909 and 918 (B) 890 and 918
(C) 909 and 930 (D) 920 and 927
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60.

61.

62.

63.

64.

65.

TBE. ;

givere qfd FeH (Shock) I% & Sifer i o # IW &1 3R fows 2 1 =7

fFg R B ¥ 2

(A) T wrE # ghg

(B) 3l =t IUEwa H Ife

(C) TFd H FUR

(D) W% ® ¥ +E &

T H R fhws g fruifta & @ & 2 )
(A) S 9% gN Hifsw MER H FEIw wH & FRO
(B) A1 §RI Hid S UK I IfemE & g

(C) Va1 T8 »=d 9% & YSINg ¥ & R

(D) @i R A Afermifa fod 9 em=Rm

Wd § 31 W, 2017 7% foit &9 & FH B g S wmened § o wmwensi
&1 fewm fovam & 2

(A) 12.5 wfav| (B) 16.2 wfave
(C) 19.6 wfawm (D) 21.5 wfae@

¥ 2011-12 § IO YR H el AR TOMT 313[‘41?! (Head count ratio) =1
o ?

(A) 21.9 . (B) 25.7

(C) 285 , D) 29.1

ﬁmﬁﬁﬁmwﬁmﬁamq@a(zoolu)mm@m'
@i

&) fem (B) = WY

(€) R s (D) dfterTg

T 2011 ST & TR femraa wewr qon wRa @1 Ry fom srua wE: w@
T ‘ - '

(A) 909 Td 918 (B) 890 TS 918
(C) 909 Td 930 (D) 920 wa 927
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66.

67.

68.

69.

Match List I with List II and choose the correct answer using the given

codes :

“List I List II
(@) Gossen’ law (1) Demand and supply
(b) Gresham’s law (2)  Circulation of money
(¢) Say’s law ‘ (3)  Public expenditure
(d) Wagner’s law (4) Marginal utility
Codes :

(@ @) (@ @
@ @ B @
B) @ @ @O (@
€Cc) @ O @ @
O Q@ @O @ @
Which one of the following countries has the highest share in the world export

among the Asian countries ?
(A) South Korea (B) India
(C) China (D) Singapore

What percentage of rural households have been electrified by the end of
January 2018 ?

(A) 59 B) 67

(©) 78 ~ D) 89

With which of the following countries had India bilateral trade surplus during:
2016-17 ? |

(A) China " (B) USA
(C) South Korea (D) Iraq
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66. g I @ g 11 § foem wifs @ e T sy § W@ I w99 Fi

gt 1 et 11
(@) T = fm (1) =1 ™ 9fd
®) v H FrEm (2) HE F ufteer
@ ‘¥ = fm (3) wEwfTE =
(d) TR @ frEe (4) ErHE AT
wE

@ ® © (@
A 4) 3) @ @
B) 4 (3 @O (@
© @ O @ ©
D @ 1 @ @
67. = @ & #90 2w = R 29 § fave fraf 6 wed afus fesmd @08 7

(A) =fam =ifon (B) %R
(©) < D) R
68. TEd 2018 & 3fa 9% fwad wova wrw e w fagdea fEm oo 2
(A) 59 (B) 67
(C) 78 (D) 89
69. 2016-17 % oA fre # @ fm 3w & Wy 9w =1 fguea s e @
%
(A) ¥ (B) 4.W8.T
(C) =fam =Hifen (D) 3TH
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70.

f 88

72.

73.

74.

Which of the following statements is/are true ?

(1) India’s rank in ease of doing business improved from 130 in 2017 to
100 in 2018.

(2) India saw an improvement in seven out of ten indicators during the
same period.

(A) Both (1) and (2) are true

(B) Both (1) and (2) are false

(C) (1) is true but (2) is false

(D) (2) is true but (1) is false

The slope coefficient in Logit model measures :

(A) Average value of the regressond for a unit change in regressor

(B) The change in log of the offs associated with a unit change in value
of regressors

(C) Elasticity of change

(D) The change in probability of an event occurring as a result of a unit
change in the value of regressor

Correlogram of time series :

(A) Tapers off quickly for stationary time series

(B) Is a graph of autocorrelation at various time lags
(C) Dies off gradually for stationary time series

(D} Both (A) and (B)

Reduced form coefficients are :

(A) Long-run multipliers (B} Short-run impact multipliers
(C) They are not multipliers (D) Both (A) and (C)

When R? for a regression model is equal to zero, the F value is equal to :
(A) Infinity " (B) Zero

(C) High positive value (D) High negative value
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70.

45

72.

73.

74.

T.B.C. :

= 4 3 39/ w99 w@ § 2

(1) wwﬁmﬁmmmhzonﬁmoﬁmwﬁ1ooamn
gl

(2) 39 FHEEfy & WA 9RA Y 10 H ¥ 7 guEe § guR wiee fear
(A) (1) 3R (2) I w& €

(B) (1) 3R (2) il e &

(C) (1) @& § AfwT (2) Toa

D) (2) w& T AT (1) Tow

affere (Logit) Wigd ®t oM TUN% AI9al & :

(A) Regressond (Y) ®I 3&d WM S Regressor (X) # TH T & uigdy
B ®

(B) O (Regressor) &1 T 3o ufiafia 9 W afgw & wif (Log of offs)
H gigdq % |E

(C) ufEdT &t &=

(D) TUH 1 (event) &I Wil ¥ fiady 59 formy (Regressor) &1 4ed T ST
fafdd gar &

T e w1 HgHay o (Correiogram)

(A) M5 & e @ W ¥ (Tapers off) o for W@ gwan §
(B) ¥& HIEEHSY 1 -3 U SRR W oy ¥ 2
(C) for www geen & ford 77 -4 g @ 3

D) (A) 3R (B) I we &

WWM%W ................ %l
(A) S o (B) swfas woEh 1o
) 3 TmF T ¥ D) (A) 3R (C)
mmmmmﬁRz-OWF'ﬂgm ................... 2
(A) S (infinity) - (B) S (0) |
(C) =9 YrHE AH (D) 3= ®HUTHS HH
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75. If a regressor that has non-constant variance is (incorrectly) omitted from

a model the OLS resjdual will be heteroscedastic.
(A) False
(B) True
(C) Sometimes true sometimes false
(D) Depends upon the equation
76. The precession of the estimator is measured by :
(A) P-value
(B) Standard error of estimate
(C) Confidence interval of the estimator
(D) One sided hypothesis test

77.  The test statistics used to study the direction of causality between two time

series variables, is :
(A) Almon’s test - (B) Distributed lag model test
(C) Bilateral causality test (D) Granger cauéa]ity test
78.  For simultaneous equation model rank condition is :
(A) Necessary condition (B) Sufficient condition
(C) Both (A) and (B) (D) Neither (A) nor (B)
79.  Cobb-Douglas production function is represented by :

(A) Y, =B, +B, X0 X5 o4 (B) Y, =p, X2 X% 44

(©) Y, =P, X2 XD ¢n D Y, =8,X2x2u

80. Environmental externality can be internalized using certain mechanism; which

one of the following was suggested by R. Coase ?
(A) Pollution Permit (B) Pollution Tax
(C) Bargaining and Negotiation (D) Command and Control
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75.

76.

7.

78.

79..

80.

Ife T TS (regressor) G faaRW (variation) fEer & ¥ (et /) wisa
T SIH & foRan STiaT d SrERe =HAad & fafY (OLS) 919 STHfaEiiia (heteroscedastic)
Bl

(A) A - (B) &

(C) it ¥ Fft s (D) o | AR
ElA (estimator) F ST H T AW SRR |

(A) P-g4 (B) ughummwm%ﬁam

(C) EAR &1 fovam o= (D) I UReed T

A THE U B W F FONT T w1 G 9 @ 63 7w vl fE S
T, S € :

(A) M TEw

(B) Toafa fuseT #fsa (distributed lag model) ﬂﬂ&m
(C) feuafa =i wham

(D) IR (Granger) FIOMT m e

I TR Hiew @ fod efiefy W ¥

(A) STEavFS I (B) & d

© (@) aR (B) D) (@A) 3K ®) W &
FHia-STeR AR HeH T & 1

(A) Y, =P, +B, X;? Xy e B) Y, =P, Xy Xgt +e"
©) Y, =B, X3 X ¢4 @) Y, =B, X2 X 4,

Tatery SRas ® fafu=s qlel ¥ geeiE e s g §) e 3 9 e
IR. I (Coase) ¥ T & ?

(A) WU W (B) WU H

(C) dTRamT g d=d (D) 3Ry W fE=
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81.

82.

83.

84.

Demographics dividend, defined by the United Nations Population Fund

as !

(A)

(B)
(®)

(D)

When the share of working age population is larger than the non-working
age population
When the share of elders increasing than the share of younger generation

When the share of highly skilled people is less than the share of less
skilled people '

(A) and (C) are correct

~If the firm has monopsonist power in factor market payment made to the

factor is :

(A)
(B)
(C)
(D)

Less than not only to VMP but also less than MRP
Less than VMP but more than MRP
More than VMP but less than MRP
Equal to market prices of the inputs

In multiple equilibria case :

(A)
(B)
(€
(D)

We can have stable and unstable equilibrium
We can have multiple stable equilibrium only
We can have multiple unstable equilibrium only

Equilibrium is not possible

Match the following lists and choose the correct answer using the given codes :

(a)
(b)

()
(d)

List I List II
Jankiram Committee (1) Security Scam

G. Sundaraman Committee (2) Adequacy of Institution Credit to
Small Scale Industries

P. R. Nayar Committee (3) Inspection of Banks
S. Padmanabhan Committee (4) Structure of Export Credit

Codes :

(A)
(B)
©

(D)

@ ) @© @
1 @ B @
1 @G @ @
n 6 @ @
1 @4 @ @
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81.

82.

83.

TP TR TGEA WE 4 SHHieTHE 9y @ 36 YER uienya fEwa g o
(A) w& FEvIa SEE W e -wEvie s 9 afes @
(B) & 9@ 1 feww dAear & e 4 9| 5 @ @

(C) v® 3= =y @l & feww w0 FHyd @ & Tl ¥ w6 @
(D) (A) 3R (C) EFf wét &

Ife T SR # hal THEMER ¥ @ WEd F fea S wen e
(A) 7 ®ad YMP ¥ %9 sfssr MRP ® 4 &9 #Im

(B) VMP @ % wfd7 MRP ¥ 21y

(C) VMP ¥ sifys @fT MRP 9 ¥

(D) wEEl ® AER qed & auE]

@g-Hqed (Multiple equilibria) 3@ ¥ .

(A) =m fier a9 sifem daem W WA §

(B) 9 Haw dg-feo §ger I Whd ©

(C) 9 Fae @g-Afer dged 71 ¥ &

(D) HqeH Hyd @ %

fr= a1 faem #ife w6 few 7o wEw A wE sW g

et I w=r 11
(@) WFHRRM FHHe (1) gfayfa =
(b) . TETH A @ o s $ fad e s
CAN LG
(¢) . AW T HEA (3) d=i &1 fAtem
(d) TH. WEHI FA (4) frafa @@ =0
HE :

(@ (b)) () (d)
a) (1) @2 B @)
B) (1) @) (@) (2)
) (1 @ @2
M) 1) ) (2 @)

T.B.C. : 05/18/SET—I1 41 PUT:



85. Skewness of binomial distribution is given by : .

(A) np (B) npq

(©) (g-p)/Jnpq (D) (A) and (B) are true
86. Yate’s correction of continuity is needed when sample size is :

(A) Large (B) Small

(C) Moderate (D) Greater than 20

87. The points of inflexion of normal curve are :
(A) x — 20 and x + 20
(B) x — 30 and x + 30
(C) x—ocandx + 0
(D) x - 1.670 and x + 1.760
88. Which of these is unaffected by outliers :
(A) Mean (B) Interquartile range
(C) Standard deviation (D) Range
89. One use of regression line is :
(A) to estimate change in Y for a unit change in X
(B) to determine any X value is outlier |
(C) to determine any Y value is outlier
(D) to determine a change in Xv causes a change in Y

90. A lottery ticket displays probabilities of winning prize on the back of ticket.

These probabilities are examples of :

(A) Relative frequency probabilities on the long-run observations
(B) Relative frequency probabilities in physical assumptions:

(C) A random probability

(D) A personal probability
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85.

86.

87.

88.

89.

90.

feue faarn =1 fauga 98 ®
(A) np (B) npg
(©) (g-p)/Inpg (D) (A) 3R (B) ¥ %

¥4 (Yates) & 18R Fema < w8 #01 &1 Segshal uedl § 9@ ==w 5
HHR :

(C) W= T % D) 20 ¥ wfEm B B

(A) x — 20 3 x + 20

(B) x - 30 3R x + 30

C) x-cdx+o0

(D) x - 1.670c 3N x + 1.760

T A fF9 W I T FOUNE T ved ?

(A) Tforrg Areg (B) =qde® & U
(C) wrs fa=em (D) &

G T F TH WA T B

A) Y® ge8 # wiEdT % o o o9 X @ g § 1 % uREdd #eoE
(B) 7% faftss =0 5 X & % W9 9 Y

(€) Y F FHE 9 T €

(D) @z fifysa #o f& X # uftads ¥ # ofteds &% @

W Al e 3 99 % wW feen #t wiswma feet g8 § g wigswa
T T _a"_l. -W %l

(A) SEE § Iuer wul gEAel W oenaif wnifas e Wi
(B) difes wrael W enunfia wnifwes s wifaeha

(C) agf=sw wifasd
(D) FafFms wiawd
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91.

92,

93.

94.

95.

If for a function y=f(x), f(-x)=~f(x), then :

(A) flx) is symmetric about x-axis

(B) flx) is an odd function

(C) flx) is not defined on boundary values of the domain of the function
(D) Both (A) and (B) are true

The quadratic a];proximatiﬂn of a function flx) is :

(A) flo)=f"x)+ f"x)+a

(B)  flx)=fla)+ f"(a) (x-a)

(C)  flx) = fla) + fla)(x—a) + f'(a) (x-a)

D) flx) = fle) + fla) (x—-a) + £ "(a) (x - a)?

Suppose f(x)=|x| (absolute value of x), then :

(A) flx) is differentiable

(B) flx) is not continuous

(C) flx) has a limit (! = 2) when x approaches 1

(D) Alx) is continuous at x = 1 but not differentiable

If the function is concave :

(A) The first order condition 1s sufficient to find the optimum values

(B) Second order condition is essential to ensure whether the result is

maximum or not
(C) Assumption ?f concavity obviates the need for second order condition
(D) Both (A) and (C) are true

Given a function Z=f(x, y) the function has a saddle point, if :
(A) f.<0 and f, [ >f2 (B) f,>0 and f, £, >f

(€) f.>0 and f_ [, =f: M fofy<fs
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91. IR TF W y=f(x) & W flx)=-fx) TA L, @ :
(A) fix) (BeH) x-3187 & Ty § o
(B) flx) %o Th faum wer
(C) Wid (domain) & fFR & fogell | Ax) Wom uftwfog & 2
(D) < (A) 991 (B) ¥4
92. e flx) F fEE Wi (quadratic approximation) 7% & (95 o & =#MU) :
A) fx)=f'@)+F"x)+a
B) f(x)=f(a)+ ") (x-a)
©) fx)=f@+ f@)(x-a)+ f"(a)(x-a)
D) fx)=Ffl)+ @) (x-a)+ f"a) (x-a)
93. HM Wit 6 flx)=|x| (FO% 77 ®eW ) @ :
(A) fx) 1 ke Femen ST wehdT R
(B) Ax) ¥ & ©
(C) Ax) & A (limit) 2 & 56 x — 1
D) fw), x = 1 W ¥aa ¥ T oot @ E
94. 49i¢ TH ®eM IFdd @, @ :

(A) T A feem & fa9 voy s/eshe 9049 (First order condition) &
HTHI Bl §

(B) @fshad qod I H & fodl fgda sosem wlem &1 sreavaswar §
(C) w%maﬁmﬁ?ﬁwmqﬂwﬁaﬁwﬁ@ﬁ
D (@A) Ik (©) =& F

95. Z=f(x,y) e & d=a fag (Saddle point) & I :

(B) fu<O0 L f, 512 B) f.>0 W £, f,,>f
© fo>0 I £ f,=f D f.f,<f2
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96. AP, =q/L = Average productivity of labour, then

dL

1 ?g_g} LrAp - MP
(A) LL,L = @) T [AP, -MP,]

Q) JQ

—|1/L—-q/L LY, ~-alL
© =l q/L] ©) - [1/K-q/L]

97. In input-output' analysis the Matrix [I — A is :

(A) Idempotent Matrix . (B) Final Demand Matrix
(C) Technology Matrix (D) Eeshlon Matrix

98. Hawkin-Simon conditien requires that :
(A) Leading principal minors of Matrix [I — A| be positive
(B) Principal minors must alternate in sign
(C) Principal minor of [I — A] must be negative
(D) All the cofactors of [I — Al must alternate in sign

99.  For a linear programming for every maximisation problem there is an associated
minimisation linear programming problem and vice-versa :

(A) ' The original problem is primal and the associated problem is dual
(B) The optimal value of primal and dual is always equal

(C) The optimal values of primal and dual are not equal

(D) Both (A) and (B) are true

[_1)"-‘]1 .
no )

(A) 1is a convergent sequence whose limit is 1

100. Sequence a, =11+

(B) 1s a divergent sequence
(C) oscillate when n — =

(D) oscillation becomes explosive when n is increasing
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96.

97.

98.

99.

100.

T.B.C.

AP, =q/L= %9 %t 39d AR, T& AR -

oL
J_4] Lisp -
) giohef ® Ljan-wm
Q- M/ x
(C) aL[l/L.q/L] (D) aL[1/K q/L]
m‘mWﬁ%(I-A) ................. %'

(A) @TEeIE (Idempotent) =& (Matrix) §

(B) Ifaw @1 =g T

(C) WrifTwta U =g

(D) WA (Ecshlon) & (Matrix)

FFA-aH I a@ FEd © 6

(A) (I-A) =g 9t Y@ YR YIS @

(B) g@m@ﬁavﬁaﬁa'@ﬁm(mﬁm)
(C) (I-A) & JHE YIS HUHS B dlied

(D) ¥sft T @Sl (Cofactors) fEfia 80 W =fed

ew T # yF dT Fod & AlIHay 1 D Y TF A@8g B Sl e
Wﬁw*ﬁﬂ?ﬁ@g% '

(A) vEEH §HE & ™ 9 (Primal) 3R TR #1 §F (dual) Fed ¥
(B) @ R g¥ & =9 HA TAW 9UE o ¥

(C) 3 3R g9 &% T=aH oI WWH Tl o

(D) (A) 3R B) A I &

A a ={1+.“1)H} .

n .
A) TE STIH AR ¥ (Convergent) § 3R 3! €M1 1 & AN ©
(B) U 37w fafi=a (Divergent) §
(C) IE 1w e (Oscillating) &
(D) <M w1 HE dg G Y Sedl & 59 n o AH Sed ©
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